Zh(7000AKB1E  eh(710)BYHIE Mg (751) 8] =:(100)QlzH| (Tl @
I} =2
T AES e | Gie | 32
g A 39,895,240 44,593,292 ~4,698,052
700 AtgHIE 9,136,574 8,561,668 574,906
710 IgHIE 9,135,574 8,561,668 573,906
751 Ygkuald| 9,135,574 8,561,668 573,906
100 QIAH| 5,730,112 5,468,114 261,998
101 QI7H| 5,520,592 5,264,354 256,238
01 EH 4,590,420 4,383,450 206,970
o= 3,140,291
o 55(TESA) 6,761,750 x 3% x 12€ = 243,423
o 65(27%3) 4,192,500% x 28 x 128 = 1,408,680
o 72(23%8) 3,637,400 x 23% x 12¢€ = 1,003,923
o 8=x(10&28) 2,465,700 x 13& x 12& = 384,650
o 9=(8=8) 2,075,300 x 49 x 12¢ = 99,615
O 424 3,140,291,000¥ x 0.9/12 = 235,522
O 222G 358,204
o ARIRIZ2LY 358,204
= 12,0029 x 26 x 40A1Zt x 12¢ = 149,785
7= 10,8419 x 23F x 40AIZt x 12¢ = 119,685
= 9,733% x 139 x 40A[Zt x 12& = 60,734
= 8,798% x 4 x 40A|Zt x 12¥ = 16,893
LAY 11,5699 x 2 x 40A[ZH x 12¢€ = 11,107
O Hua 215,022
o 75 57,600
B2} 40,000¥ x 50 x 128 = 24,000
24 20,0009 x 358 x 129 = 8,400
Bl (Z4H) 20,000¢ x 20& x 12¢ = 4,800
HI (SR 60,0009 x 208 x 129 = 14,400
. HA(AEOIAY 100,000 x 58 x 12€ = 6,000
o HILEIMIE 69,600
- 204 oy 100,000¥ x 46 x 128 = 55,200
159 O|4 80,000¥ x 5% x 12¢ = 4,800
109 Of4t 60,000¥ x 5& x 12€ = 3,600
- 54 Ol 50,000% x 10Q x 128 = 6,000
SIS s eV B L= 11,760
- 25 Ol 30,000¢ x 26& x 12¢€ = 9,360
- 209 Ol 254 D2t 10,000¥ x 209 x 128 = 2,400
o A2 50,0008 x 48% x 12% = 28,800
o URIFATY 47,262
= 191,7709 x 2% x 128 = 4,603
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T ALS A | Giha | T2
= 164,680 x 128 x 128 = 23,714
- 7= 147,020 x 9 x 12& = 15,879
= 127, 7108 x 2@ x 12& = 3,066
O g 120,840
o J|lz3ELY 7,200
= 50,000 x 18 x 128 = 600
- 6~7g 30,000¢ x 15& x 12¢ = 5,400
- 8z0lst 20,000¥ x 5& x 12€ = 1,200
o JlgdESY TRig 5,280
N, 30,000¢ x 10 x 12¢ = 3,600
- ARRAT|AL 20,000¥ x 7% x 12¢ = 1,680
o EXYRAHTY 210,000¥ x 43H x 128 = 108,360
O HugAH| 140,000 x 718 x 128 = 119,280
O FEF7H| 3,140,291,0008 x 60% x 1/6 = 314,030
O GI7IEAH| 3,140,291,000& x 1/12 x 1/30 x 10¥ = 87,231
03 SIAYZ2A e 581,949 527,189 54,760
O st==2t 394,892
o oSlrHYAT ARtz YAIE 49,727
-~ 2,218,930 x 1@ x 12¢ = 26,628
C KRR 24,390 x 19 x 20A[2t x 12& = 5,854
- AzpeG 130,080 x 1Y x 10¥ = 1,301
FEF7H| 2,218,930 x 40% x 19 x 23| = 1,776
- AR 100,000 x 1&¥ x 12& = 1,200
- WESEZH| 50,0004 x 1@ x 12€ = 600
- A 80,000¢ x 1 x 12€ = 960
] 100,0008 x 1Y x 12¢& = 1,200
s 2,218,930 x 1&H x 43| = 8,876
] 2,218,930% x 5% x 1% x 12¢ = 1,332
o otk ZHR(WR1225) 342,165
- 7lg=s 2,162,690 x 69 x 12€ = 155,714
N ] 25,4303 x 69 x 20A[2t x 12& = 36,620
YR 203,460% x 6 x 2 x 12& = 29,299
- R 135,640 x 6 x 10 = 8,139
FHFIH| 2,162,690 x 40% x 69 x 23| = 10,381
- AR HE 100,000 x 69 x 12& = 7,200
- WSHZH| 50,000¢ x 6@ x 128 = 3,600
- Al 80,000 x 6@ x 12¢ = 5,760
A 50,0004 x 6@ x 12€ = 3,600
e 210,000 x 69 x 12& = 15,120




((J00)AIRIBIZ  Sh(710)ZeMIB  Mih(ZonUrRIZIE 2101212 (THe] : #el
T ALS A | Giha | T2

-r-rat 150,000 x 6@ x 128 = 10,800
|2 2,162,690 x 6 x 43| = 51,905
- 25Y 2,237,130 x 5% x 3% x 12& = 4,027
o Bdz|=H| 3,000,000 x 19 = 3,000
O HfisanzAeL 48,815
o WAHLZ ok 48,815
= 2,104,750 x 19 x 128 = 25,257
- ARRIZREST 23,970 x 18 x 20A[2t x 128 = 5,753
- SR 127,840 x 19 x 10¢ = 1,279
- HEFIH 2,104,750 x 40% x 1Y x 23| = 1,684
- 72 100,000 x 1& x 12¢& = 1,200
- NEEZH| 50,000¥ x 1 x 12€ = 600
=Ll 80,000 x 18 x 12¢ = 960
2y 100,000 x 1& x 12¢& = 1,200
|2 2,104,750 x 19 x 43| = 8,419
- 25Y 2,104,750 x 5% x 1% x 12& = 1,263
- ErERrY 100,000 x 1@ x 128 = 1,200
O =gLupEARL 95,356
o WHHZ U HAtER AR (YF155E) 95,356
== 2,118,280 x 2@ x 12¢ = 50,839
- ARRIZESY 23,380% x 2 x 2042t x 128 = 11,223
- g 124,720 x 29 x 10¢ = 2,495
- YERH 2,118,280 x 40% x 2% x 23| = 3,390
AL 100,000 x 2@ x 128 = 2,400
- WSHZH| 50,000% x 2% x 12¢ = 1,200
=L 80,000¢ x 2 x 12& = 1,920
F=r=pact 100,000% x 2% x 12& = 2,400
|G 2,118,280 x 2 x 43| = 16,947
=) 2,118,280% x 5% x 2% x 12¢ = 2,542
O 20204= SF2Ag drgs 536,063,000 x 8% = 42,886

04 7RHAIZZASES 348,223 353,715 N5,492
O st 240,868
o AIB(YAIAIRIR) 7,766
== 69,760% x 1 x 7% x 128 = 5,860
ZHAlH| 2,0009 x 1 x 79 x 12¢ = 168
TR 69,7609 x 18 x 12¢ = 838
EENEER e, 74,9609 x 1% x 12¢ = 900
o YUY ChHRE HBI(LAIARIR) 89,311
= 69,760¥ x 4F x 2504 = 69,760
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L (700ARBIE (7100 FYHIE  Meh(751)Eeke|H]  =:(101)@12H| ool - de
FEaEE woe | Giq | B2
{HAE] 2,000 x 49 x 250¥ = 2,000
FRrY 69,760% x 4F x 504 = 13,952
CELELiac 74,960 x 4Y x 128 = 3,599
o HI-HIEY R4A| BUSHA(ZAIAHRUF) 24,237
== 69,760 x 3 x 90Y = 18,836
{HAlE] 2,0008 x 3E x 90¥ = 540
TR+ 69,760% x 3F x 20Y = 4,186
CELELiac 74,9608 x 3Y x 38 = 675
o HIYA| AIZRIE AMAL Q12 130,000 x 5% x 10 = 6,500
o ASH(a 2| 5) YH|(ZAARIE) 113,054
== 69,760 x 5% x 252 = 87,898
LA 2,000 x 5% x 252 = 2,520
TR 69,760 x 5% x 52 = 18,138
deAsE2HrY 74,960 x 5% x 128 = 4,498
O getirdae|Atea 53,678
o Eoll stz He| 2 AT|E2|(ZAAHRIST) 26,839
== 69,760% x 5% x 60Y = 20,928
{HAE] 2,000 x 5% x 60Y = 600
FRrY 69,760 x 5% x 12Y = 4,186
deAsE2HrY 74,960 x 5% x 38 = 1,125
o g9 Skez2ly el I AR (LAAHRIT) 26,839
== 69,760% x 5% x 60Y = 20,928
LA 2,000 x 5% x 60Y = 600
FRrY 69,760% x 5% x 12¢ = 4,186
CELELiac 74,9608 x 5% x 38 = 1,125
O SR 53,677
o Ald= &FYH| & RFA2|(LAAHAT) 53,677
== 69,7609 x 109 x 60Y = 41,856
{HAlE] 2,000¢ x 108 x 60¥ = 1,200
TR 69,760% x 109 x 12¢ = 8,372
deASEHrY 74,960 x 108 x 3& = 2,249
106 2FEs| 209,520 203,760 5,760
01 ZRgUFAE| 3,600 3,600 0
O 55 100,000¢ x 3% x 12¢& = 3,600
02 ZlgExH| 136,800 132,960 3,840
O 55 250,0009 x 39 x 12¢& = 9,000
O 6x 165,000 x 269% x 128 = 51,480
o 78 155,000 x 23%H x 128 = 42,780
O 850[3 145,000 x 17% x 128 = 29,580




Z(700)AIRIHIE  BH(710)FRHIE  MER(751)YekelH] 5:(106) 2 2+3ZH| ool - HY
T ALS A | Giha | T2
O AL 165,0008 x 2 x 12& = 3,960
03 EdYURs-HZEY| 69,120 67,200 1,920
O 3719 At 324 80,000 x 68F x 12¢& = 65,280
O 2311 Y 323 80,000 x 1&¥ x 128 = 960
O dgE7 g 35 80,000 x 18 x 12¢ = 960
O ofltr 2 Ao S 352 80,000 x 2@ x 12¢ = 1,920
200 = 1,707,960 1,735,680 N27,720
201 k2| 1,241,897 1,307,601 AB5,704
01 ApFel| 183,304 164,254 19,050
O YukegH| 164,904
o 7|2 AFRESH| 100,000% x 288 = 2,800
o 7|2 HaBEH| 150,000 x 141 = 150
o 2B WIIH= 200,0008 x 2& = 400
o EX, 74|, d7|13d =M7Y 20,0008 x 5& = 100
o AMEFER 15,000¥ x 2& x 12€ = 360
o EAP| 22 7,670
- EAP| 48| 350,000 x 1Cf x 45| = 1,400
- EAP| Y 150,000 x 1Cf x 108 = 1,500
N =t 330,000 x 1Cf x 43| = 1,320
- SARBA| 23,000¥ x 25box x 6" = 3,450
o Im2IF FIE2[R| 12¢ 237,0009 x 2Cf x 23| = 948
o ZEl=AP| Atz 198,000 x 12¢ = 2,376
o SRPTAIAS|A| OflAbA L ZARA QI 6,600
- OJlAFH ST IEAM 13,0009 x 1008 x 18] = 1,300
- 20i|AkA 13,000 x 1008 x 18] = 1,300
- RZHOAEN 10,000¥ x 1008 x 33| = 3,000
- BUAM 10,0004 x 1008 x 13| = 1,000
o SEREAIRSA| AULAL Y s 11,000,0008 x 14 = 11,000
o SEEERIAREYF VMY 898
20,000,000 x 14| = 20,000
o ofp NMEL HEZRA R 3,000,000 x 1Al = 3,000
o 33 Aol AL 4R 210,0009 x 5744 x 23| = 2,100
o LI2IYE 0|8 &= 20,000¥ x 1008]| = 2,000
o ofdH| 7,160
= e =8 ¢ 1,000,000 x 14| = 1,000
Sk EEY 288 6,000 x 6 x 50 x 12¢& = 2,160
LB T 7|48 2 dAkesz
4,000,000 x 17442 = 4,000
o R 98,240




[ 32t ]
(700ARAHIE  E(710)FYHIE  MBh(751)YekElHl  5:(201)YBHR Y| ol Y
T oue | B85 | =2
- SRS OE ZE P A2 8,000¢ x 1,000% = 8,000
MeHHEAAGE FME A2
30,0009 x 84 x 12748 = 2,880
BTy 2014H| 8Y soE
120,000 x 974 x 1274 = 12,960
- HiSEHIZ M| CHRY 2 (SHRHE 750kw, B3l 200kw, 4&950kw )
1,600,000 x 1274 = 19,200
- HISHIN(RA) HET(Ql QRIBAL 4E
100,000 x 87HA = 800
- HISHIAN(RINA) MIIHH|IRY HA aE
4,000,0008 x 87A = 32,000
- SitlieHIZ AMHAY s 200,000¢ x 1238] = 2,400
- AERLAMEIAY 2E7| 22| 20,000,000 x 1Al = 20,000
O 2824 12,000
o 2005 BTLokZAZYHIAIY HaFEIIRIS] AL 25
200,000% x 43| x 5% = 4,000
© 2006 BTLSHEAZHIAIY HaEIIQI8] MAL £
200,000% x 43| x 5% = 4,000
© 2009 BTLSHEAZHIAIY HaEIIRI8] MAL £
200,0009 x 43| x 5% = 4,000
O Ytz 6,400
o HIMA| mjshE+ AH| Axlz 6,400
- B 5,000,00094 x 1cf = 5,000
- 2A 700,0008! x 16 = 700
- EHOEg 700,0009! x 16 = 700
02 332GH| 1,058,593| 1,143,347 A84,754
3323 2 Al 1,022,475
o fHeg 1,737
Qb 2mWZ 30089 x 200 x 12¢€ = 720
57| fH= 1,9308 x 4074 x 12¢ = 927
S7|8EE 28 1Y 1,500 x 52 x 128 = 20
o otpilt ARY HIMERE 1,000,000 x 12¢ = 12,000
o ot ARA FOIETV iz 16,5009 x 12% = 198
o HELSLEH 1,000,000 x 14l = 1,000
o 2005'd BTLAIY S3L23HI+HIY 2| 5714 M7|ed §)
35,000,00094 x 14l = 35,000
o 2006 BTLAIY ZZLI(BUHEZ 9| 7714 27|22 5)
25,000,0009 x 14l = 25,000
o 2009'd BTLAIY S32S(LeBZAELY 2 S/h4 d7|1e3 S)
15,000,0008 x 14 = 15,000




AU SH(710FYHIE  MEh(75)YekEH]  S:(201) eS|
1 =2 L
T ALS g | G
o ol 43,916
SESSY(LHIAAE) 1,300
- ZRERA| 50,0009 x 10 x 23| = 100
- ASAEPZR (Y, S ARE) 1,000,000 x 1cf = 1,000
- BANMEEEE 75,0008 x 1. x 23] = 150
- W|BA SR 25,0008 x 1CH x 23| = 50
- SEUYEEAR) 4,540
- ZRERA| 95,0009 x 1CH x 23| = 190
- AbEAF B2 (Y S ARE) 4,000,0009 x 1CH = 4,000
- SEMECE 150,0009 x 1Cf x 23| = 300
- HI|HA B 25,0009 x 1off x 23| = 50
= 71 38,076
- HIARE U TverlE 100,000 x 12¢ = 1,200
- MeReE AR 40,0008 x 12¢ = 480
- okl HEUIY H2|8 RUIE 23
50,0009 x 1Cf x 12¢ = 600
- YAUTickrE otk AER
4,261,4219 x 12¥€ x 70% = 35,796
A2 860,064
- 7EE A8 QIEU A=
30,0009 x 84 x 12718 = 2,880
- BHRHT|IEQ FI|H| 100,000 x 69 = 600
- HISEHEYENL) Yot 23
30,0009 x 874 x 127Hg = 2,880
- HiSHD M2 833,904
ST 3 ES: b 25,000,000 x 1274 x 80% = 240,000
- S m It 10,700,0009 x 1270 x 80% = 102,720
- ofit2bfEHTR 3,600,0009 x 1271 x 80% = 34,560
- SigieEEY 13,500,000¢ x 1271& x 80% = 129,600
- 2QHieETY 13,500,000¢ x 1271& x 80% = 129,600
- GHRAHATH I ZE 13,500,000¢ x 1271 x 80% = 129,600
- gERrA2AA 4,500,0008 x 12742 x 80% = 43,200
- Sof2A|HrEE 2,250,0009 x 1271 x 80% = 21,600
- AdissteEAETY 315,0009 x 1270 x 80% = 3,024
- HISEEY Sh= 19,200
- RTC SE=RFMIE 2,000,0009 x 1270 x 80% = 19,200
- HEEHIYENL) SRUAANOIES) AR
50,0009 x 1274 = 600
ShEH| 28,560
- U actd 3325 28,560




Z(700)AIIHIE  eh(710)FYBIE  AMleh(751)ekaa|H]  =:(201) eS| ol -
T oue | B85 | =2
- ASH RAREAE V= (=Y 2EUS)
1,900,000¢ x 12% = 22,800
- Ak HEIM ARB=E 60,000 x 8CH x 12¢ = 5,760
O U] 36,118
o SIESY(HHUAA) 11,147
22| 5,000,0008 x 1CH = 5,000
Tt 1,164 x 4,7994 = 5,587
AR A 20,0008 x 74 x 42| = 560
o =Y EEAY) 24,971
FAMH| 10,000,000 x 1Cff = 10,000
] 1,164 x 10,7994 = 12,571
Az 20,000¥ x 404 x 33| = 2,400
202 O] 87,000 79,600 7,400
01 =L{ofH| 87,000 79,600 7,400
O ol AR 2oy 20,000 x 279 x 10 x 12¢ = 64,800
O ol gR22 2|0y 150,000¢ x 5% x 203| = 15,000
O &R U staYH| PRS2 20|
150,000¢ x 58 x 63| = 4,500
O Algle P22 L FFHIt 2elofs| 150,0008! x 3%H x 63| = 2,700
203 YR 9,530 9,530 0
02 HH7HIHFZLH 1,160 1,160 0
O HH7HIAF220] 40,000& x 299 = 1,160
03 AJHPEZZIH]| 4,050 4,050 0
O AlMYRZ2I| 4,500,000¢ x 14 x 90% = 4,050
04 BEXN2IYRRLIH| 4,320 4,320 0
O BM2IYFRR| 400,0008 x 12¢€ x 90% = 4,320
206 A=H] 69,173 67,226 1,947
01 UER=ZH| 29,173 27,226 1,947
O 33| 7,173
o Sl FEAUE ALY 7,173
Y8 &S L Uy 15,0008 x 157 = 225
AeHts, 28 37,000¢ x 6QF x 43| = 888
28 (4 5,000 x 1007ff = 500
M8 (=0, &0} 20,000 x 1074 = 200
AZHH, &) 250¢ x 6% x 600 = 900
PP ZLCY 3009 x 8,000% = 2,400
HE U STHRZL4AL) 2,000 x 3007} = 600
i 15,000 x 207 = 300
erz 30,000 x 87 = 240




[ Skt ]
Z(700)AIRMEIE (710 UHIE  MEh(75)gREE|  =:206)A=H| chel M
T oue | SEG | 32
SARRRZHL 200,0009 x 474 = 800
IEOHY AlSE(0FZI2IR]) 15,0008 x 8| = 120
O 22| 13,473
o HirHIEY L AHFA| FAZE AAMTY 7,873
- BER 1,8508) x 504 x 6% = 555
S EN 5,500 x 10kg x 6% = 330
HQIE (Of|LIY <)) 100,000& x 5071 = 5,000
A2, 28 2508 x 5% x 150% = 188
PP ZOI(1E, RTAI™LE) 15,0008 x 1007 = 1,500
2R TG A 5,000¥ x 607 = 300
o 2215, USSR HIYZRE ATY 5,600
A48 SERE|(1HP) 2L 1,000,0008 x 57 = 5,000
. uEs) 15,0008 x 10Z2] = 150
TlaAst 30,0009 x 5% = 150
- LE AR 15,0009 x 1074 = 150
- WESHE 22 15,000 x 107 = 150
O &t 8,527
o A5t AR L J[EF 20| 8,527
- W3R 1Y 20,0009 x 5% x 53| = 500
- O, 227 |S%, 20|, &, 27 S 1,000,0009 x 14} = 1,000
N ESJE=EIE] 400,000 x 3Cf = 1,200
- O|27|, M| 42| 200,0009 x 5Cf = 1,000
- O|Z7|, ARI| QFH| 1,3619 x 52 x 60 x 5Cf = 2,042
- ORRIEFHOIE 37,0009 x 50m = 1,850
- ORR}ESHONE DA 300 x 450¥ = 135
- 2312 QU OpMst Z4| 80,0008 x 10 = 800
02 okEH| 40,000 40,000 0
O Ak 2RIpMA 7 2,5009 x 16,0004 = 40,000
212 2a|3A| 127,264 123,976 3,288
01 ARIEYRES 95,356 92,068 3,288
O 373 MeEYREE 58,547
o RUASLRHS 536,063,000 x 4.5% = 24,123
o RUAHLEHRES 536,063,000 x 3.43% = 18,387
o LOI|SYLHRES 18,387,0009 x 11.52% = 2,119
o N8EFZ 536,063,000 x 1.65% = 8,846
o A== 536,063,000 x 0.946% = 5,072
O 7RIAIZ=22} ARI2dREE 36,809
o ZUAFLHS 348,223,0009 x 4.5% = 15,671
o IUHLLEHREF 348,223,0009 x 3.43% = 11,945




Migh(751) ZekaeH|

2:(212)2254H|

L el | Gha | B2
o LoV |ISYEARTEHS 1,317,000¥ x 11.52% = 152
o 1gH3l= 348,223,000 x 1.65% = 5,746
o LRfEd= 348,223,000 x 0.946% = 3,295
09 7|Et=e|=dH| 31,908 31,908 0
OR=r il 21,216
o SHBioIia EgfAly| 8,000¢ x 23% x 62| x 12& = 13,248
o HI-HIY, YR oA AL SAH|
8,000 x 8% x 63| x 12¢ = 4,608
o OfiFHY Zut & FSEYL AofE 27 SAH|
8,000% x 5% x 53] x 12& = 2,400
o Aot ZFA gAH| 8,0008 x 2% x 53] x 12& = 960
O 223 Hlg2F 24| 8,0008 x 6% x 123] x 12¢ = 6,912
O st 223 TS| 3,780
o O|(FEA) 30,0009 x 6 x 43| = 720
o ol 50,000% x 6% x 23| = 600
o OFAMBHHIA O|TIZHR|R) 70,0008 x 6% x 23| = 840
o GI5(€3) g =7 150,000 x 6% x 13| = 900
o AYUD(CHURTE), AU 60,000 x 6% x 23| = 720
214 SARA| A 173,096 147,747 25,349
05 FARAH| 173,096 147,747 25,349
O HI-EIEY 71A, d7| A= RARZEH| 40,000,0009 x 14} = 40,000
O HiEIZ ARI7| FAl22[E| 30,000,000 x 14} = 30,000
O HjamHOIZ A2S oz|22|H| 20,000,000 x 14| = 20,000
O %2, 3148 22|n2|| 20,000,000 x 14| = 20,000
O HiI-HEY =29~ = 22/ 10,000,0008 x 14 = 10,000
O ste(Falh)ei-BHEY 78 Sa=(EH) 2=(H|
5,000,000¢ x 43| = 20,000
O ARBHd $2ZBIAM Q4] 10,000,0009! x 24! = 20,000
O AHS7|Y ofbf2lA BEAIAH 7AIEH|
9,920,000% x 14 = 9,920
O Aoze] & HAGA Z202 FA[22(H]| 218,000¥ x 12& = 2,616
O AZAUMAILE FA| (| (Glr2te] 3714 560,0008 x 14] = 560
300 Heold 1,697,502 1,357,874 339,628
303 EAZ 240,829 322,066 281,237
02 Hatdoig 240,829 322,066 A81,237
O g0 240,829
o 62(1853) 3,711,4008 x 26 x 1.1 = 106,147
o 78(15&28) 3,155,500 x 23% x 1.1 = 79,835
o 85(1228) 2,621,300 x 13 x 1.1 = 37,485




Migh(751) ZekaeH|

=303 Ed=

FaAE s wu | Ghia | B2
o 9z2(10=8) 2,228,800 x 48 x 1.1 = 9,807
o AFAH16Z28) 3,434,000 x 2 x 1.1 = 7,555
304 A=REE & 1,009,673 885,808 123,865
01 ¢zRY=a 821,400 725,623 95,777
O SRAHZRE=E 4,921,967,330¥ x 9% = 442,978
O SRAHZEE 4,921,967,330% x 3.076% = 151,400
O ERsYREF 4,921,967,330% x 4.4464% = 218,851
O S5 eli2 5= 4,921,967,3309 x 0.166% = 8,171
02 =RALESHRES 188,273 160,185 28,088
SEHULEYRE S 4,921,967,330% x 3.43% = 168,824
O o7 |eYERES 168,824,000¥ x 11.52% = 19,449
305 Hid=s 30,000 30,000 0
O SIEEAILE ALDE0| T2 BidE 30,000,000 x 1Al = 30,000 30,000 30,000 0
308 ZR|HASO0[A 297,000 0 297,000
05 ARR|EHAREREES 297,000 0 297,000
O SSEASH FH|AIY 297,000
o FSHEASIH FHAY HES 297,000,000¢ x 1Al = 297,000
317 37|YSEARIRE S 120,000 120,000 0
O ok ARz gRadl o= 10,000,000% x 12& = 120,000 120,000 120,000 0
780 EE&A 1,000 0 1,000
782 HI|EQeEEA 1,000 0 1,000
758 H7|EQlLHEA 1,000 0 1,000
O MEe e Hdre 1,000,000 x 1Al = 1,000 1,000 0 1,000




(2000224218 sHQ30)RAANZS MEEQ234)7EE Z(401)AIHH[LULCHH| (TH] @ )
T ALS A | Giha | T2
200 ZAEAz|Z 20,995,918 24,792,627 ~3,796,709
230 RS 20,812,360 24,455,000 23,642,640
234 == 20,812,360 24,455,000| 23,642,640
401 A|EH|LLC0H| 20,812,360 24,455,000| ~3,642,640
01 AldH| 20,812,360 24,455,000| ~3,642,640
O Eol2A|~WAT I A5t HH[AIY 1,500,000
o Ald| 1,500,000,000¢ x 14 = 1,500,000
O o] SHa2(AY HulArY 500,000
o AlH| 500,000,000 x 14! = 500,000
O d=-0|=2= EFA skt EHlAY 142,860
o =H| 100,000,000¥ x 14 = 100,000
o Ald| 42,860,000% x 14| = 42,860
O UU0|Z2 Flpx{2lET HAX2IA1E FHIAK 200,000
o ol EHIA 200,000,000¢ x 14] = 200,000
O 2005'd BTL SlratAEHIAY HRRE3 4,906,000
o =H| 3,086,000,000¥ x 1A = 3,086,000
o SlEEES|A 1,820,000,000¢ x 14 = 1,820,000
O 2006'3 BTL skEHAHEHARY dRXZ2 6,716,000
o =H| 4,237,000,000¥ x 1A = 4,237,000
o ol EHIA 2,479,000,000¥ x 1A = 2,479,000
O 2009'F BTL ol AHEHAY HRX S 3,328,000
o =t 1,994,000,000¢ x 14 = 1,994,000
o ol EHIA 1,334,000,000¢ x 14 = 1,334,000
O AILHYY St 7 EaZAt 10,000,000& x 30714 = 300,000
O AlLHYH S 328+ 3At 2,000,000 x 20074 = 400,000
O A|LHYH Sk 2H3AL 125,000¢ x 3,200m = 400,000
O Uiiskes HAO[H (A EHESA 8,500,000 x 3744 = 25,500
O Ythslez AldE ZHISA 100,000,000¥ x 14 = 100,000
O Ugti-BIZ 7 (A, 17| ALE wXZA
100,000,000¥ x 14 = 100,000
O YR AAMGHHA|S HHIALY 1,200,000
o =H| 400,000,000¥ x 14| = 400,000
o AlH| 800,000,000 x 14] = 800,000
O sigtieEIZ ieEI(127]) A2 70,000,000 x 14 = 70,000
O oigti-BEId gz AAE A2 43 250,000,000% x 14 = 250,000
O SetfHIna: KOJA| A A 40,000,000% x 14| = 40,000
O dfietz=dirHEZ ASs oY He 30,000,0008 x 14] = 30,000
O 4otd AldE =57 100,000,000¢ x 1A = 100,000
O 251 2HIAHASE UM 22 ZEHR) 80,000,000 x 1A = 80,000




N

2Q00)A2AAE  Sh(230)FAMIZFS  MEh(234)71E=

2:(401) A AL

=
T oue | B85 | =2
O 2514 ZeiH7| 12,000,00094 x 5744 x 28] = 120,000
O tetd UYL 2L 2E3A
8,000,000 x AZEA| 374 24,000
O AR SPIHLAY 210,000
o T UM L=22{0|Y WA
H| 50,000,00094 x 14 50,000
o RES LM =22{01Y JHIAIY
&H| 50,000,00094 x 14] 50,000
o Y3 AU Si AFYA| AESAL
SH| 40,000,00094 x 14] 40,000
o 2OLE Ak ZZAIY H| 20,000,00094 x 14 20,000
o &l skrts I St WAAY
H| 50,000,00094 x 14} 50,000
O oot 70,000
0 AlEZ Fl4k AIME HH| 20,000,0008 x 14| 20,000
o B8 sk AldE gH| 20,000,000 x 14} 20,000
o YTiStr L2 ORd AldE 23
30,000,000% x 14] 30,000
800 OfjH|H| 183,558 337,627| 154,069
801 Oils[8] 183,558 337,627| 154,069
801 Oil8[H| 183,558 337,627| 154,069
O OfH]H| 183,558,000 x 14] 183,558 183,558 337,627| 154,069






